Points, Lines, and Planes

Provide another name for Plane A:

_,f-"'f‘ Name the intersection of Plane A and line d
_‘:_i.l F ~ s Provide another name for line f:
Name 4 coplanar points:
/ o "K A Name the intersection of Plane S and Plane A:
L N Name the intersection of line n and line g:
T f Mame the intersection of Plane B and Plane S:
a Name Plane S in two other ways:
n . 3 Name 4 points that are non-coplanar:
= _"/_Q' Name 3 points that are non-collinear:
™ gl v Name a point that is in both Plane 5 and Plane A:
> Name a point that is not in either Plane A or Plane S:
e Name a line that is contained in plane A:

MName a line that is not contained in Plane A:
Name a ray that is contained in Plane A:
Name a ray that is not contained in Plane A:

What are the two ways to name a plane?
What are the two ways to name a line?

Sketch each of the following independently:

Three points that are coplanar but not collinear.

Two lines that lie in a plane but do not intersect.

Three lines that intersect in a point and all lie in the same plane.

Three lines that intersect in a point but do not all lie in the same plane.
Two lines that intersect and another line that does not intersect either one.
Two planes that do not intersect.

Three planes that intersect in a line.



Segment Addition/Segment bisectors

Using Midpeints In the diagram below, B is the midpoint of AC,
AB = 9, and AD = 25, Find CD.
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Given B is between A and C. If AC=x + 10, AB = 5x, and BC= 3x - 4 find
the values of x and AC.

Identify the seament bisector of 7o
) Then find PO
Given: AC= 39m
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AB = Find DE and EF.
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Segment Addition Higher Level

Find AB and CD:
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Midpoint/Distance Formulas

Given points A(-4,2) and B(3,3).
1. If C is the midpoint of AB, find point C.
2.Find AB.
3. If B is the midpoint of AD, find point D.

Give the points A(3,-2) and B(-5, 6).
4. Find the midpoint C of the two points.
5. Find AC
6. Find BC
7. If (3, -2) is an endpoints and (-5,6) is a midpoint,
find the other endpoint.



